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Atcoder Rugular Contest 113

good

F - Social Distance

gd

00 $n+1$ 00 $X_0,X_1\cdots X_n(X_0=0)$0$y_i\in [X_{i-1},X_il$ O $y_i$ 000000

$$ E\left(\min_{2\le i\le n}(y_i-y_{i-1})\right)\bmod 998244353 $$

gd

O $F(x)=P\{\min_{2\le i\le n}(y_i-y_{i-1})\gt x\}$00 O O
$$ E\left(\min_{2\le i\le n}(y_i-y_{i-1})\right)=\int-xF'(x)\mathrm{d}x $$
000000 $Fx)$000000000000 $x$000 $Fx)$ 000

O $z_i=y_i-(i-1)x$00 O $\min_{2\le i\le n}(y_i-y_{i-1})\gt x$ OO 0O $z_1\It z_2\cdots \It z_n,z_i\in
[X_{i-1}-(i-1)x,X_i-(i-1)x1$0

000 $IX {i-13-(-1)x,X_i-(-1)x]$ 00000 $t {2i-1},t {2i}$ 0000000 $v_1,v 2\cdots
v {2n}$0000000 $zi\neqv j$000000000

O $\text{dp}(ij,k)$ OO $v j\t z {i-k+1 It z {i-k+2Ncdots \It z Nt v_{j+1}$ 0O OO
000 $v Mtz {i-k+ 1}tz {i-k+2Ncdots \It z_ Nt z_{i+1 Nt v_{j+1}$00 O

$$ \text{dp}(i+1,j,k+1)\gets [X_i-ix\le v_j\lt X_{i+1}-ix\frac {(v_{j+1}-v_))}{(k+1)(X_{i+1}-
X_i)Ntext{dp}(ij.k) $$

0 $v Mtz {i-k+1}\It z_{i-k+2}\cdots \It z_ i\lt v_{j+1}\cdots\lt v_{j+tHtz {i+1}\tv {j+t+1}$00 0O

$$ \text{dp}(i+1,j+t,1)\gets [X_i-ix\le v_{j+t}\It X_{i+1}-ix\frac {v_{j+t+1}-v_{j+t} }{X_{i+1}-
X_it\text{dp}(ij k) $$

0000000 $0(n™3)$00000000DO0O0O0O0O S\text{dp}$ 00 000DOOO0OODOODOOO
O0O0O0000 $0(n~3)$0

O000O0O $x$000000000 $vjs0O0 $b-kxsDOOOODO $v {j+1}-vj$00 $x$00000O

$\text{dp}$ 000 DOOOO0OODO $iNtoi+1$00 0000000 $x$000 $v_{j+1}-v j$sgo O
$F(x)$ 000 $x$ 0 $n$s000COO

D00 $tix)$ 0000000000000 $Fx)$0000000000000000000
$t ()=t j(x)$ 0000000 $x=\frac {b_i-b_j}{k j-k_i}$[]
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O00000 $x$0000000000000O0O $x 0,x 1\cdots x k(x 0=0)$00 O O $k\sim O(n"2)$[
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00 $x\in [x_i,x_{i+1}1$00 O $x=\frac {x_i+x {i+1}}2$00 0000 $ti(x)s 00000000 $t.is
oogao

000000 $F0\simn)$s00 000 $\text{dp}$ OO OO $[X_i-ix\le v_\lt X_{i+1}-ix]$ OO O OO0
gobooobboooboboooboobo

O000ooooog $Fx)s$ O $XUn[X_LX_{i+1}]$ gopooooooogo
$$ \text{ans}\gets \int_{x_ i}~ {x_{i+1}}-xF'(x)\mathrm{d}x $$

000000 $0(n"6)$[]

const int MAXN=25,MAXV=1e6+5,Mod= ;
int inv[MAXV];
int quick pow(int a,int k
int ans=1;
k
k&1 )ans=1LL*ans*a%Mod;
a=1LL*a*a%Mod;
k>>=1;

ans;

int gcd(int a,int b
b
int t=b;
b=a%b;
a=t;

a,;

struct Poly

int alMAXN];

Poly mem(a,0);

Poly operator * (const Poly &b)const
Poly c;
_for(i,0,MAXN) rep(j,0,1
c.alil=(c.alil+1lLL*alj|*b.ali-]j | )%Mod;

c;

int cal(int x
int ans=0;
int i=MAXN-1;i>=0;1i--
ans=(1LL*ans*x+a[i])%Mod;
ans;

p/MAXN]|,F;
struct Frac
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int p,q;

Frac(int p=0,int g=
int g=gcd(p,q);
p/=g'q/=g;

q<v)p=-p,q=-q;
this->p=p;
this->q=q;

bool operator < (const Frac &b)const
1LL*p*b.q<1LL*b.p*q;

bool operator == (const Frac &b)const
p==b.p&&q==b.q;

struct Node
double v;int idx;
bool operator < (const Node &b)const
v<b.v;

node [ MAXN<<1];
vector<Frac> vec;
vector<pair<int,int> >b;
int a/MAXN],val|MAXN<<1],rk U/MAXN|,rk r{MAXN];
int y[MAXN|,dp ! MAXN]| MAXN];
int solve(int n

mem(dp,0);

dp =1;

_for(j,0,(n<<1)-
_rep(i,0,n

int g=1;
dplil[j+1i=(dpli][j+1]+dpli]l[j!)%Mod;
_rep(k,1l,n-1i
rk_ Lli+k|>j||rk rii+k|<j+ ;
g=1LL*g*inv|k|%Mod* (val|j+1]-vallj|)%Mod;
dpli+k]|[j+11=(dpl[i+k][j+1]+1LL*dp[i][j]*g)%Mod;

dp/n n<<l)-1];

int cal(int n,int vl1,int v2
mem(F.a,0);
_rep(i,0,n
_rep j' N
F.alil=(F.alil+1LL*y[j I *p[j].ali])%Mod;

int i=MAXN-2;i;i--
F.ali+1|=1LL*F.a[i]*1%Mod*inv|i+1]|%Mod;
F.a =F.a =0;
Mod+F.cal(v2)-F.cal(vl) )%Mod;
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int main

int n=read int(),ans=0;
inv|1/=1;
_for(i,2,MAXV)inv|[i|=1LL*(Mod-Mod/i)*1inv Mod%1i %Mod;
_rep(i,o,n
pli].al0]=1;
_rep(j,0,n
i==] ;
Poly temp;
temp.al0|=1LL*(Mod-j)*quick pow!( (Mod+1i-j)%Mod,Mod-2)%Mod;
temp.alll=quick pow( (Mod+i-j)%Mod,Mod-2);
plil=plil*temp;

_rep(i,0,njalil=read int();

_rep(i,1,n
b.push back(make pair(ali-1],-(1i- ;
b.push back(make pair(ali],-(i- ;

_for(i,0,b.size
_for(j,i+1,b.size
pair<int,int> pl=bli],p2=blj];
pl.second!=p2.second
vec.push back(Frac(pl.first-p2.first,p2.second-pl.second));

vec.push back(Frac(0, ;

sort(vec.begin(),vec.end ;
vec.erase(unique(vec.begin(),vec.end ,vec.end ;
_for(i,0,vec.size

vecli].p<= ;
double
x=(1.0*vec|[i-1].p*vec/i|.q+1l.0*vec/i-1]|.q*vec|il.p)/(2.0*vec|i-1].q*vec|i

q;
_for(j,0,b.size
node[j].v=b[j].first+x*b[j].second,node[j].idx=j;
sort(node,node+b.size ;
_for(j,0,b.size
node|j!.idx&
rk_rlnode(jl.idx/2+1]=j;

rk_linode|j|.idx/2+1]=j;

_rep(j,0,n
_rep(k,1,n
valirk Uikl |=(alk-11+1LL*(Mod- (k- *j )%Mod;
vallrk rik!/=(alk!+1LL*(Mod- (k-1)*j))%Mod;
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yljl=solve(n);

ans=(ans+cal(n,lLL*vec|[i-1].p*inv|vec/i-1].ql%Mod,1lLL*vec|i|.p*inv|vec|i].q
%Mod ) )%Mod;

_rep(i,1,n
ans=1LL*ans*inv/alil-ali- %Mod ;
enter((Mod-ans)%Mod) ;
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